WRITTEN TEST FOR THE POST OF JUNIOR CLERK PAY MATRIX LEVEL-2
National Academy of Indian Railways (N.A.I.R)

SR Feish ge o foIv fIf@rd qietr ddeiafeed &R -2
AR YeTd TSER HHTEH! (TATHTSIHR)

Total Marks/i:I;_c—r 37R:100 Time/ THA:2.0 hours/=dcT

INSTRUCTIONS: fa&er:

1.
2. Attempt any 100 questions.shael 3 100 T2=1 & folT 3aX ¢

3.

4. Negative marking applicability will be as per the railway board rule./Xeld CIEC D HJA

The answer can be given either in Hindi or in English.STaTel fg&r & 1 3735 & a1 ST IoheT & |
Each question carries 1 mark.9c2ieh 9T T 1 37h gl

s1atfeq ATfeRaT I s gref|

Cutting,overwriting ,erasing ,scoring off a ticked answer and ticking another answer , modifying
the answer in any form is not admissible.shIC4T, 3-|\IOI{{I$C AT, THCT ST, U f&oh §T 3aX il
reralr 3R 3@Y 3eR 1 ek aelr fanell o & 3 3o oy HeNfred sttt Eehrd w71 &1

QN

She wants to become ----- engineer
A A g AN
c THE p NO ARTICLE B

----- Oranges are grown in Nagpur
A A B AN

c THE p NO ARTICLE D

Select the odd one out

Blackboard Duster
A B

Computer Chalk
D C

Prasanna would have reached Bangalore by this time.

1 C



A Present perfect

¢ Future perfect

How many pegs of wine...... yesterday?

A Yyou have drank

¢ do you drink

I was watching TV when she....... in.

A comes

C come

Find the correctly spelt word.
1. Aprentice

2. Apprentice

3. Aperentice

4. Apperentice

Al

c 3

9

Ram said to me, “I am going to Jaipur.’

Ram told me that he was going to

A Jaipur.

Ram told me that he is going to

¢ Jaipur.

g Past perfect

p simple past

B Were you drinking

p did you drink

B came

p Wascoming

g Ram told me that I was going to Jaipur.

p Ram told me that he were going to Jaipur.

Select the one which best expresses the same sentence Passive/Active Voice.

You surprise me.

I am to be surprised.
A

You are surprised

A
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12

13

14

15

16

I am surprised. Me is surprised
C D

Select the proper prefix.: Vegetarian
A en B non

C un D an

Since he knew what would happen, he should be left to stew in his own juice

A Make a stew B Boil

¢  Suffer for his own act p Suffer in his own juice

Identify synonyms: Repellent

A borous g clastic

C stiff D unattractive

Identify synonyms: Plagiarism

theft of funds theft of ideas
A B
arson belief in Gods
C D
Jawaharlal spent his childhood Anand Bhawan.
A n B on
Cc over D across
God is
A graceful g grateful
C gracious p grace
Select Correct Word
A Aceleration B | Acceleration
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22

23

C Accelaration D Aceeleration

Select Correct Word
A Cheqge B Cheque
C Ceque D Chequee B

Bolt from the blue

A Thundering g Inform something bad

c A complete surprise p Member of high-class society C
Each and every one of you are guilty of some crime or the other.
A Each and every one of you is guilty B No improvement

C Everyone are guilty D  Each and each of you are guilty A

The Amazon in Brazil is ---- longest river in ---- South America.
A the/- B -/the

C -/- D the/the A

A shuttlecock used for playing badminton has the shape of the combination of SsfHe
Yol & foIT SEAHATST ThT STt aTel Teh AT oThieh o TSI I 3THR & |

a cylinder and a sphere/Teh &eisY 3K

INAEEURL B asphere andacone/‘i’ﬁ’»ﬁﬁﬁ\?@%iﬁj
a cylinder and a hemisphere/Uch frustum of a cone and a hemisphere/Udh
¢ FEsT 3R wh atardy p % AR T INATE o hH D
The probability of getting exactly one head in tossing a pair of coins is.f&a&®h & THh A3
T 3OTleT H Sk Teh FAX gle T FHTGAT &
A0 B |
c 12 p 13 C

Priya obtained 65, 67, 76, 82, and 85 out of 100 in different subjects, What will be the
average. TOaT = faf&eet fawai & 100 7 & 65, 67, 76, 82, 3R 85 Ured fohw, 3irad &ar
gham|

A 70 g 75
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c 80 D 85

Marks of a student were wrongly entered in computer as 83, actual marks of that student
were 63. Due to this mistake, the average marks of the whole class got increased by half
(1/2). Find the total number of students in that class. T ST o AT &l Tl b &
HCYST H 83 & &Y H gof TohaT IAT AT, 38 BT & drEdideh 37k 63 U si-T?I?«IT-ﬁés
FROT, G &l o 3N 3ieh T (1/2) 6 V| 38 HeT & STl T ol HEIT AT
Hfr|

A 25 B 30

c 35 D 40

Raju's age after 15 years will be 5 times his age 5 years back. What is the present age of
Raju?15 Ao &1¢ TS] T 3H 5 ATl Tgel 3HHT 3H & 5 I[AT g1INT | IS T dcTATeT 3Tg
FaTE?

A 10 B 20

C 5 D 25

A teacher took an exam for English, the average for the entire class was 80 marks. If 10%

of the students scored 95 marks and 20% scored 90 marks then calculate the average marks
of the remaining students of the class.Teh 7187 o1 3{IIail oh TolT Ueh YI&TT &, Cj\ff e &
TorT 31t 80 37k UT| ATE 10% BT A 95 37eh 3 20% 1 90 3{eh UIed fehU § ot HeTT o

QY STET & 3 37T I IUTAT AL |

A 60 B 65

c 75 D 80

The pair of books were bought for Rs 37.40 at a discount of 15%. What must be the
marked price of each of the books? fohdTal I SST I 15% T BC UL 37.40 I H @eT
T | Fedeh GEcIeh T RAEAT Hed T glelr A1igw?

A 20 B 22

c 25 D 37

There is a circular path around a sports field. Priya takes 18 minutes to drive one round of
the field. Harish takes 12 minutes. Suppose they both start at the same point and at the
same time and go in the same direction. After how many minutes will they meet?

Ush Wl AGI & IRI 3R Th INAThR TEdT & | TIAT I HETeT T Teh T ofdTed 3 18
fAeTe oot &1 gdrer & 12 fAae a9 & m@ﬁc%a‘aﬁa’rwé‘rﬁgwwwé’r
AT I YE A § 3R Teh 81 e & =reral 8| Fovetel fAeTe are fAeder 2

5

B
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33

34

A 36 minutes/THeC B 6 minutes/THsIC
c 18 minutes/fAee D They will not meet/d F@f fArerar

If Navin sells a ‘sari’ for Rs 5200. He makes a profit of 30%. Then what is the cost price of
the sari is/Jfe AT 5200 YA F| FIEY "STAT & | TE 30% T ATH FHATAT & | THT ATST Y
AT FATE

A Rs4420/4420% B Rs3900/3900 ®

c Rs4000/4000 ® D Rs3800/3800 % C

The price of petrol has increased by 25%. By what percent should Kishore reduce the
consumption of petrol so as not to increase the expenditure on this account?/d¢lel hr

PIHAT A 25% FT JEfT g ¢ | Tor 1 ford TTAIT & IeTer S GO Y A HIAT AT
T 38 Wil ) &g 7 gefar 1 g1

A 20% B 25%
c 10% D 30% A
If *-> means ‘+’, ‘+> means ‘-’, ‘*’ means ‘+’ and ‘+’ means ‘*’ then which of the

following will be the correct equation?

AR - W E 4, H R, L kA @ e w3 R

fArIfarfaa 7 & silsr ar agr aHwoT gem?
A 30+5+14-10%15=122 B 10+5-14+10%*15=158
C 30+5+14-10%15=122 D 30%5-4+10+15=31 D

Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

SH AT T 4W: 7, 10, 8, 11,9, 12, ... 3137 hieT AT HET 3T=A 1 T?

N g 10
c 12 p 13 B
CMM, EOO, GQQ, ____,KUU

A ITT g GSS

c 1SS p GRR C

Which word does NOT belong with the others?aplsT IT e ngr{i & TTYT 8T 8?2

A inch/ga- B yard/?"IGI'
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C centimeter/TETHIEY D ounce/3T g

Find the minimum number of straight lines that are required to make the

given ﬁgure.aﬁﬂﬁfﬁw*mm%wmi’@Tﬁ@frq\ddd—l &I AT
EQIE L

A9 g 15
c 17 p 13

Which will be the day of the week on 15th August 2047215 31T 2047 T TCATE HI et
il | B

A SundayRfdaR B Monday/STHAR

C Tuesday/FH3TelAR p Thursday/a[ediX

Transportation

- Cost

Printing Cost 10%
20%

Binding
20%

FPaper Cost
259

The following pie-chart shows the percentage distribution of the expenditure incurred in
publishing a book. Study the pie-chart and answer the questions based on it.fiF=ITel &
15T Tohell T o FehITRICT ¥el & §U o o1 gfcrerd fadvor geffdr &1 arg-are &1
mwa#ﬁw%mwm#r%mal(w 37 & 38)

If for a certain quantity of books, the publisher has to pay Rs 30,600 as printing cost, then
what will be the amount of royalty to be paid for these books?If¢; q?-_clﬁfl' $r teh AT
AT & T, GehlRTeh Sl HEUT SIEI o & H 30,600 mmwmm% arse
qEeh! o foIT AT hr EuRED: $TITCIT=T AT BIaTT?

D



38

39

40

41

42

A 19,450 g 21,200

c 22,950 D 26,150

If for an edition of the book, the cost of paper is Rs 56250, then find the promotion cost for
this edition. e JEcTeh & Teh FEHOT o [T, HTITST T oI 56250 TUA &, ol 36
HERUT & T TR 9T Gl |

A 20,000 B 22,500

c 25,500 D 27,500

A shopkeeper has a sale of Rs 6435, Rs 6927, Rs 6855, Rs 7230, and Rs 6562 for
consecutive 05 months. How much sale must he have in the sixth month so that he gets an
average sale of Rs 65007

Teh GhIIER T 6435 AL, 6927 FIL, 6855 T, 7230 9 31X 6562 TUA 05 Al
$1 9T 8| Tod FS & 3 hae [9shr gt anfge anfers 39 3traa s 6500 3=
Ao

A 4991 B 5991

c 6991 D 3991

A clock is showing 8 o'clock in the morning. Through how many degrees will the hour
hand rotate when the clock shows 2 o'clock in the afternoon?

Teh S # GoIg & 8 o7 16 & | ST TIST G196 & 2 i fe@rel & al € o1 g1 fovced f3ai
THAT

A 144° g 154°
c 150° p 180°

Which of the following is not a valid domain name?f#=1ToIT&d H & il Teh AT SHT
ATH AT 872

A Www.yahoo.com B Www.yahoo.co.uk

c Wwww.com.yahoo D Www.yahoo.co.in

The logo pertains to /@19 & & &

8

D
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A zoom/sflt\?:r B Cisco Webex/[OEa! ddad

¢ Google meet/a[aTel Hic p Microsoft Team/ATSSHIATFE EFT

which state became the first state in India to declare man-animal conflict a state-specific
disaster?/&le AT AT HR HT gl AT §f AT ¢ T AFAT-9] HEY &l
Tog-fafrse 3mder eifye fehar g2

A Gujarat/I[sRT B Madhya Pradesh/5eT 9¢er

C Tamil Nadu/?lﬁ?l?-l'l'g’ D Kerala/id D

' MOV" extension refers usually to what kind of file?. MOV' TFHC 2T 3HAIR W Tohd
TRE T BIS I TETd HLdT 82

Animation/movie file/TaiTH2eT / fheA

A Image file/ BT BISeT g WIS
MS Office document/THTH 3iTfhy
c Audio file/373aT Brger NGGIEE B

Which among the rulers of Magadh founded the city of Patliputra (Patna) on the bank of
river Ganges?/H3TEl o ATHT & & fohdel 191 &Y & e I AT (Te=TT) AT
TATIAT T &T?

A Bimbisara/fafFaaR g Chandragupta Maurya/degd[td ;A

C Bindusara/w p Ajatshatru/3TSITARMY D

“Sur Sagar”, a treatise on music was written during the reign of which of the following
Mughal emperors?/&fid W Ueh FY “FX ARR” fAe=ifafead & & g 7qarer gae &
RITEAHTS & SNTT e I1am 217

A Akbar/3TehsiT B Jahanagir/STgTaTR

¢ Humayun/HT p  Shahjahan/2gSTgT A

Railway Employee can view his salary slip online over which system.{eld HHART e
ATeH 9T 37911 adaT Idl TS ¢ HohaT & |

A RESS g UMID

c HRMS p [IPAS A
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WHICH OF THE FOLLOWING IS A VALID HRMS ID.fAFafai@d & 3 Teh der

TI3RUATYH 3S8T &

A KHIECD

¢ KH@#CD

B 123456

NONE OF THE ABOVE/ZH ¥ His off
p

YOU WANT TO TYPE A LETTER ON COMPUTER. WHICH FILE FORMAT WILL
BE USED BY YOU. /3119 g W Teh TF Y el 6 d & | 319 shieT 6T Bigel

B IYANIT HIT TATET .
A .XLS

c -PPT

g -DOC

p MOV

The Treaty of Seringapatam is associated with which of the following wars?%ﬂi?Tqm
1 G TG & & fovdt Jeor @ gafera g2

Third Anglo-Maratha War/cT&RT
A TR g2y

Fourth Anglo-Mysore War/2t2IT
¢ GAHR IeH

Second Anglo-Maratha War/g8I
g UIeN-FRIST Jeur

Third Anglo-Mysore War/cIRRT Taell-HET
p 3&d

'Teacher's Day' is observed on which of the date?'T1eTeh fgaar fohd ARG I FATIAT SATAT

&7

A January 30/30 STeAadr

c September 5/5 Rasx

B November 14/14 AdeX

D October 2/2 3-13%}!?

Where is the National Academy Of Indian Railway located?aT2TeTel UehgHT 3TH 33T

YoTd gl [&ud &7

A Vadodara/dsieT

c Delhi/feeeh

B Pune/g'@f

D Allahabad/gelTgldlc

The famous Dilwara Temples are situated in/‘;fﬁlT:«'ﬁT feerarsr AfeY Ua §.

A Uttar Pradesh/3d 9¢eT

¢ Maharashtra/HgRTSE

g Madhya Pradesh/Heg geer

p Rajasthan/TeTEATeT

10

D
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Every year Bulk of the rainfall received during the Monsoon seasons in almost all parts of
India. Which among the following state is an exception to this?/g3 HTel HTAHT & AlgA
H HRA & I THY AT H AR IR BT & | [FeaTaf@d 7 & Fia a1 = sqar

394l g2
A Karnataka/dellcen

C Andhra Pradesh/37T¢T 92T

Which of the following is best soil to grow cotton? /&I 33T & folT e H & PieT AT

A a3 3T g
A Black soil/aTell feer

c Alluvial Soil/sTele fAger

Which among the following language is NOT there in the 8th Schedule of the Constitution

of India?/fAF=1TATET & & st Y 87T HIRA & AT T 8T TG & nfdrer =7¢T &2

A Sindhi/fEET
C Dogri/39R)

What is the predominant type of Indian agriculture? TRl Efﬁf T THY HhIT 1 g7

Commercial agriculture/arioIie g
A P

C

c Plantation agriculture/g&TRIIOT iy

B Tamil Nadu/?lﬁ?l?-l'lg
D Kerala/ahdoT

g Laterite Soil/eleXrse fATE

p Red Soil/elel fATdr

B Manipuriﬂ?ﬁl"fl)ff

D Raj asthani/ITSTEATAT

B  Extensive agriculture/caTdeh E(Ifﬁf

p Subsistence agriculture/Stifaerr Eljﬁf

The Redcliffe line is a boundary between RS TFelth YW Ueh TIAT &

India and Afghanistan/$TRd 31X
AHIMTAEATA
A

c India and China/$TRel 3R <ieT

Which of the following is used in pencils?df&e & fAFfaf@d # & foraer 3udter fnar

STl &7
A Silicon/fafereler
C Phosphorous/®IEHRY

B India and Pakistan/ARd 3 gIferEars

p India and Myanmar/dRd IR FIAR

B Charcoal /el
D GraphitedhIST

11

B
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62

63

64

What happens to the weight of Iron, when it rusts?/STel olig H ST9T oI3T SATcl & ol 3Tl

goleT T BIT 82
Increases for long time/elsl AT I
INGLSU g g Remains the same/dgT (@l &
Decreases then increases/dcdrl a' Xy Increases then decreases/dedl %’ Y gear
c FodE D ¥® D
The present Lok Sabha is the/acidTeT SlehTHT &

A 15th Lok Sabha/15 dT eliehasi g 16th Lok Sabha/16 dT cllehsI

c 17th Lok Sabha/17 dF elieh&stm p  18th Lok Sabha/18 d oileh&rem D

Which among the following waves are most commonly used in the Night Vision
Devices?TAFATa T H & BT T a3T A15¢ At 3arsd & & 31T8H 39T Hr
ST 87

A Microwaves/HTSshideHd g [Infra-Red Waves/Se3hT T deh

c Radio Waves TS deq p Ultra Violet Waves/3Tecl grelc dcd B

Which among the following can not be called an antiinflationary measure?/faFATeli&d &
O fohd Ferewhifey et 3t +7Et gt ST Hevalr?

Rationing of the Credit/3UT ol
A UG B Raising the Bank Rates/sieh &Y Gl

Raising the Reserve Ratio
Requirements/3TR &It 3feqdrd Purchase of securities in the Open
C 3TaRIRATIN I TGT=T p Markets/gel STHRT & gfdegfoat A @lde |

CPGRAMS platform functions under which department?/CPGRAMS ColewhiH R
Ta8TeT 3 37T F AT B2

Department of Economic

A Affairs/3TTTeR FTHCT T AT B Department of Commerce/dl o1y fasimer

Department of Pension & Pensioner’s Department of Administrative Reforms and
Welfare/dereT 31 dereT#iaft shearor Public Grievances/92M&feIeh UR IR
c Tasmr p e R fasmT D

12



65

66

67

68

69

70

What is rat-hole mining primarily used for in Meghalaya?/HETer # YC-glel Welol I
AT &G Q FAT 3UANT fohaT ST 82

A Gold extraction/AVT TSHYOT g Coal extraction/hIIelT forseRyuT

c Sand mining/ AT Gelel p GCranite mining/J=TTSC Gelel

Which Indian space mission successfully germinated cowpea seeds under
microgravity?/fh® AR AR AR o ASPREIfacr & dgd oiifear & et @r
AheldTqdeh 3R fham

A PSLV-C55 B PSLV-C60 POEM-4

c GSLV-MK I D Chandrayaan-3/TgdTel-3

Janjatiya Gaurav Diwas(November 15) commemorates the birth anniversary of which

tribal leader?STeTSITcI IMRG fgaw (15 AdsR) ford 3feardT sar Hr ST o6 T &
HATIAT ST 872

Bhagwan Birsa Munda/$73TareT fa@r
A T g Rani GaidinliuRTeT IMSfeTey
¢ Tantia Bhil/difcrar sfrer p  Sidhu Murmu/feE H7

Which country proposed the initiative for the International Year of Millets at the United
Nations General Assembly (UNGA)?/&3ecl IS¢ HETHHT (UNGA) #H 3HeRTSE SToRT
ay & foIT 9gol T 9EdTd fohd 22T o 3@T?

A India/#TRe g Brazil/siTsiter

c South Africa/cT&IoT 3TthTeRT D China/dlel

Integrated Helpline Number of Indian Railway is /AR JeTd &l Uﬁ%_cl' o CIED Ly
3

A 182 B 139

c 1075 p 1098

Which rule states that no railway servant shall indulge in any act of sexual harassment at
the workplace?

13



Pl @1 AT Fgar § & Fg it Ja9 FHAd FRITUT W AT 3cdiisa & fRar
M g & faca = gram

A Rule 3¢/ @& 3C 5 Rule5/ & 5

o Rule 13A/ &= 13A b Rule 22/ @& 22

Who was the chief guest of India's Republic Day Parade 2024?31 & 0T fead uRE
2024 & 7T AfAfy @l a7

Abdel Fattah El-Sisi/W hdlg
A -Ar Y g Jair Bolsonaro/ai¥ StediARY

c Emmanuel Macronfg’:ﬁﬂ'ﬂﬂ HaieT p Cyril Ramaphosa@ﬁ?f JTHBIET C

As per the Ministry of Railways' circular dated 02.01.2025(RBE 01/2025), what is the
revised minimum educational qualification required for open market recruitment in
Level-1 posts in the pay matrix of the 7th CPC?/el HATAIT & featleh 02.01.2025 & IRIF
(3RS 01/2025) & 3TAR, 74 WG & dcfal Afearq 7 dael-1 el W Gol d6R &
31t & oI 3iTareareh T wgeteret aTfores aaara &7

12th Pass with ITI/12¢l 918 o @TY
REL e g 10th Pass/10dT 9T&

10th Pass or ITI or equivalent or

National Apprenticeship Certificate

(NAC) granted by NCVT/10dT 91 IT 10th Pass and ITI or equivalent or National

ng'c?fﬂ'lé' IT HBET IT TG Apprenticeship Certificate (NAC) granted

GaRT UeTeT fohaT arar TE 9fNa]dr by NCVT/10aT 918 3R 3m$Er3ms ar

JHTOTIH (TATHT) HHANET AT UAHIAICT GaRT JeT fehar aram
C p  TTSERT TTRIEIAT FATUTIS (TTTEN) C
Recently, the Prime Minister (PM) inaugurated the new Jammu Railway Division.
Consider the following statements which one is correct./gTel & & FeITeIeaT (FITH) o AT

STFH Yerd fBdieret @1 3garest fram| fArafaf@a sust X e &Y 3R 9ard & #ia
T YT T & | B

14



I.  New Jammu Railway Division: The Jammu Railway Division has been carved
from the Ambala Division/sTdT STFH ECCAECICOE GDQ:[\W fSdisteT @ 37aTel
T3ASTeT & 37197 Tleh IATAT AT & 1.

II.  New Jammu Railway Division: The Jammu Railway Division has been carved
from the Firozpur Division/sTaT GD:F‘I'\W IECISGE \_TFR:‘T\W fEdiser &t
ORISR T3eftoteT & 37e19T hleh ST AT & |

III.  Indian Railways now has 17 zones and 70 divisions/$TRclI YeTd & 319 17 ST

3R 70 Tda=T &
A OnlyI g &I
c OnlylI p I&II

A new Railway employee who joins service in the middle of the year is entitled to casual
leave for that year.

Teh AT T HAI S a¥ & AT § AT H AT glar g, 3 av & fow
3Th T EH 3TN T gha X &l &

proportionate to his expected service

74
(to be rendered) / aY ST AV 3198
A BT & 3TAR p thatis duein full/ SHIT A YUT ST CL &
that is half the number of CL due / Q%
C CL T 3mefr =T & D Noneofthese/gﬂﬁ@ﬂffé'ﬂﬁ' B

Which of the following can not be combined with joining time?

FaTs T THT Thdsh AT AT sTal TohdT ST HehdlT 67

75

Leave on Average Pay / 38 adeT
A T LHAP / 3y dcfeT By
<
C CL / 3T &HF Ty D None of these / 3oT3 ¥ IS TgT C

After, the Appointments Committee of the Cabinet, approving the decision of the Union
76  Cabinet for reorganization of railway board on functional lines. Now there are how many
members in the Railway Board including Chairman cum C.E.O./FATI#HSel &l ﬁl’{l)'%cr B

15



AT, SRATcHAS Sl 9 IeTd SIS & Jol: HISHT & [T g HAHSH o 0T oy
HOLY & ST 1379, YoTd SIS F fohclel He e § TSieTd 3rewret @ @8 3. anfder g

A 4 B 5

C 8 D 7

How NOTE/letters are circulated over "e-office"/ e / 9= "é’-aﬁﬁm " IR IR H fhU
S &

77 Through Browse & Diarise/ ST3T 3iR
A Through files/ BISell o ATEIH & B SRS & ATEIA T
C c.Both/gHl D None of the above/ S8 & Elflé.' T TET

Establishment matters have been mentioned in which part of Model SOP 2018.

ATSo TE3NUT 2018 o G HTT H TATIAT ATHAT T Sooll fohaT AT |

78AD g E

c G D F

A Railway servant seeking voluntary retirement from service should have completed at
least years of qualifying service.

AaT ¥ EATeoe QaTlag i =gl aTel {o/d ddeh ol AT JaT & HH F hA af QX
g A ART

A S B 10

c 20 D Noneofthese/sﬂﬁﬂaﬂéﬂﬁ'

While Standard Form No. 11 is used for issuing a minor penalty chargesheet, what is
Standard Form No. 4 used for?

SIS T35 BIA HaX 11 T ST AR &3 T ATeTiTe STRY el o folw foham Sirelr &, ot
T3S Bid e 4 T 3941 fohd forw fonam Sram &2

Appointment of Enquiry Officer /
A WW@W B Deemed suspension / &olﬂlﬁd IGECG!

80

Revocation of suspension / feeldel a7
C  Suspension / feleiasT p foRERTT

Which category of the new pension scheme is mandatory to be contributed by the

employee.HHTRT CaRT F{F\ﬁ'%m TR Fr ford Ao 7 AR JAfAad |
81 A TierI/RR-1 B Tier-l & II/feR-1 3R 11

c Tier-1I/ feae- 11 D None of the above.é?ﬂef@aflé; T LT

16
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https://wr.eoffice.railnet.gov.in/eFile/?x=-W6ryaJwca8EW3DgbzWjpT*T4eJr0ODBABfhmzmXObR7rZVbpQQ0SNMA*6e1e7edumDyxwA*ig0

82

83

84

85

86

Which of the following is the easternmost Railway division of the Indian

Railways?fAe=Taf@d # @ slel HRAT Teld T T8 i o7d fSeitetet 82
A Tinsukia/ﬁ!?-lﬂ%m

C

Encashment of Leave on Average Pay (LAP) while in service. Consider following
statements.Which one is correct./310d dde (TATTUT) WX 3TAhIA HI ADGIHIOT

Lumding/?g?:l'%?T

B Rangiya/farar
D Katihar/&{egR

rfaf@a Fa 1 R HESaar a@r gl

C

The Productivity-Linked Bonus is given to all non-gazetted railway employees. For the

Encashment of LAP is permitted up
to a maximum of 10 days of leave, so
encashed during the entire period
shall not exceed 60 days in the
aggregate./

LAP & APGIhI0T Pl Th dR H
FRFRTH 10 AT Hr & H
aaﬂﬁ% WW%W

Uehlag Fel Aot 60 et &

Fifereh w78 gom

Encashment of LAP, as above, is to
be allowed at the time of availing of
Privilege Passes/ PTOs. Bq'eia—?r &
T H, TIUN F ARG
AT R arE / NE3T & oA &
THY 37ATT & Sl B

A balance of at least 30 days of LAP

should be available to his/her credit taking

into account the period of encashment as

well as leave availed of /[LAP H &H &

e 30 &=t & QA RY ol TehcIehlor shr
B Haf¥ & TrY- 39elsH glar A1fieT|

D Al of the above/ 3T T

year 2023-24, the PLB is equivalent to how many days’ wages will be paid.

3cUTeehdl & o138 919 g3 I-Torafa Yoa et &1 feuw Sra §1 99 2023-24 PLB

ey feeit & Saiet & aRTeR 21T

A 77 Days/77 f&a

C

78 Days/78 fe=T

B 88 Days/88 feaT

D 98 Days/98 feaT

What is the minimum qualification for Gr. D candidates?

Tqd AN # [AGTF 8 TiATT A gUATH fehcleil A&TTOTh T glail e 2

A §dT 9rd/8th Pass

C

How many years of railway service must be completed for departmental promotion in

12dt 918/12thPass

railway service?

B 10dT 9T&/10th Pass

D STH W IS A8l None of the above
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87

88

&9

90

Yol @aT & fasTfiar gelesttct @ fehctet ay & ToT ST qof et 31TaRdeh g2
A 1 a9/ Year B 3 a¥/Year

Cc 2 3%/ Year D 4 dY/Year

What is the word DO, which is used by daily correspondence?/ DO RTec; T g, forger
39T &fe¥eh TR §aRT fohdT ST 872

A Demi Order /3HT 35X B Daily Order/cfaieh 3Teer

C Demi Official/3T¢T TTHRT D None of the above/3AH & IS 3 7T C

For the calculation of Night Duty Allowance (NDA), duty hours are counted RUE]
SET T (VASIV) o 3Tehele] o folT 3T & B e S B

From 21:00 hrs to 05:00 hrs / 21:00 From 22:00 hrs to 06:00 hrs / 22:00 &7 &
A S H05:00 F b B 06:00 &/ deh

From 24:00 hrs to 06:00 hrs / 24:00
C §o1 9 06:00 1 T D Noneofthese/sﬂﬁﬁaﬁé'ﬂ'ﬁ B

(A) Children's Education Allowance is admissible for a maximum of three children.
(B) Reimbursement of Children's Education Allowance is to be done on completion of the
calendar year.

(A) STeT TRETT 87T 31Th e it a<di & folv Tdh gl
(B) s/t & TRI&T #1eY T gt Shofsy I o qR7 gley 0) 1 STl &

A Only (A) is correct.hdel (A) TETEl B Only (B) is correct.Fael (B) T 1

Both (A) & (B) are correct.(A) 3N Both (A) & (B) are incorrect.(A) 3T (B)
c (B)al=l T gl D Wt arerd & D

Vijay Sharma has applied for RTI. He wants a certified copy of the service sheet of a
railway employee, Mrs Devika Rani. Consider the following statement, which you will
write in your note before giving it to the officer.

T AT & 3RE3TS & fov 3 fFar g1 a8 U Tod e A S =i $ir
Har-giEaert H Ao wfd amgd §1 frfaf@d faavor o faam Y s 3ma srferemr
oY TETT il T Tl I Afear 3 fordar|

Yes, a copy of service can be given.

but he needs to deposit required

money as per number of pages./gT, &aT No he can’t be given a copy of the Service

$r T 9fa &7 ST Thar &1 oifchet 38 record as it’s third party information./ e,

YT T HEAT & ITEN IMaTh T 38 QaT Rehis T Teb Ui g1 &1 ST Fehell
A STHT AT gram B #Fifeh Ig dIaR T&T T STl §
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93

94

95

\O
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Yes copy of the service sheet can be
given but at stage of appeal only./

grafag Ne AP T ThaT & Will take no decision/ ﬁéﬁv‘r&ra@rﬁm
C fehst hael 3diel & AT A D STuam

For how many days Maternity and paternity leave admissible in railways for first two

living children. / 9gel & Sfifad seal & forw Yerd & yagfar 3R [Agca sraeprer fohdet feait
o forT &I &-

A 180;15 B 15;180

C 365:60 D 60:365

Standard Forms  are used for issuing Major & Minor Penalty charge sheets

respectively./HTeTeh BIH T ITAET HALT: Ao 3R ASTR Aded! dTorfie IRY et &
forw fopar Srar &1

SF 5 and SF 11/THTH 0531
A THUGI] B SF11 and SF 5 /UHT® 11 31X TOUE 5

C SF11 for both/Glsil & AT TATH 11 D SF 5 for both/THTR 05 GlAl & felw
od H fiuaed fhder TR 9 SRR gidr 82 How many tiers PNM is functioning in

Railway?

Al B 2

C 3 D 4
CAT T X7 TS T &2 What is the full form of CAT?

. dcd  USHGECAA  ¢ed  Central
Hco TSHITCT éAIG?IIt\HFvI Central Administration Tribe

A Administration Tribunal B
Hcol UsHAAced ¢85 Central Hcol UsHIAced ﬁlsa‘\aa Central
C Administrative Trade D  Administrative Tribunal

How much transport allowance is paid to blind and orthopedically handicapped railway
employees?

ATEIeT 3R 31T AR T Yo HHAATRAT I fohc=TT IRagsT 31T T ST 872

A Single rate.Uehel ¢X B Triple rate feaarex

The railway will provide a vehicle for Double the normal rates of Transport

commuting¥eld  3Te1-3e7 & foIT allowance. 9RdgsT 1 I ATATTT & &
C  Ueh dTgeT SISt T | p &Rl

What is the full form of PRAN? How many digits does a PRAN number have?/PRAN &T
YT &9 AT §? PRAN Fe H fohetal 37eh gl &2
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Permanent  Retirement  Account
NUmber ; 12 /U ﬁa”s'ac_ Permanent Railway Account Number ; 14

A TE 12 B /Uiy {erd @raT §ET; 14

Provident Retirement Account Permanent ~ Railwaymen's ~ Account

Number ; 12 /877y daforgfy gy~ Number: 12 /AT YeTehaHt WTeT HE; 12
Cc T 12 D

In case, a Railway servant, in the performance of his official duties, acts in a discourteous
manner, in his official dealings with the public, or otherwise adopts dilatory tactics or
willfully causes delays in the disposal of the work assigned to him/her, then he/she violates
which Rule of the Railway Services (Conduct) Rules, 19662/af¢ Elfl'é' o HHEART 3T
UTSE, Shoiedl &l g ld gU, SToldl & TTY 3T ITARTRP TdgR H 3737 cTdeR
FIAT &, TT TAT H1H ﬁoﬁdq@w ST et T 0TI 39T &, a1 39 | v

97t & fIeR 7 SToIggia faed #XdT §, af 98 YoId §aT (TR0 3, 1966 & ford
s 1 Secias wtarg?

A Rule 3A/fAT#A 3A B  Rule 3B/f@T# 3B
None of the given options is correct./f¢U
c  Rule 3¢C/fAT# 3C p 1T fasedi 7 & &g o Tgr AT g1 A
Benchmark for APAR for MACP would be w.e.f. 25,July 2016.
f&. 25.07.2016 & TATHT T @ St & foIT..... TIIU3R & oI SadATh §
78 A Average/3iad C Out standing/3cohsC
B Good/3TTai D Very Good/a'g'(—-l' TSI D

The Prime Minister inaugurated the Z-Morh tunnel aimed at improving all-weather
connectivity between FUTAHAT o SIS-HIS FIIT I SHTee fhdT ToEhT 3682 deard
3R R & &g g AFH 7 Fu& FI SgR T ¢ |

99 Jammu and Amritsar./GIFFj'\ 3R
A HHIW B Jammu and Kashmir./ST&#] I FHEAR

Kashmir and Gulmarg/®HR 3iR
c e D Ladakh and Kashmir. /elegr@ 3R &#FAR| D

What's a web browser?dd SIT3o1{ T %}?

A computer that stores WWW files/Teh
A Akind of spider/Ueh JhR HI ARG B HYT ST WWW ISl bl TR T &

100
A person who likes to look at
websites/Ueh ST Tad oIl ddATSCl i A software program that helps to access
C ST YHE Xl %’ D sites on the World Wide WebUeh TR A
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YIEITH ST Ios arss 99 W A1sel deh

qguﬁ HACE ?dTg

RO Y 8t T 3 BREH ST o P 3 & Pl - @ ST Ao Ty
CIBERS

Which of the following languages included in the 8th Schedule of the Constitution has the
highest number of speakers

A W/Gujarati B SI¥¢l/Bengali
¢ HATS/Marathi D aTj?I\/Telugu

TS & TR 31Teeq o IcAeTel fRST bl TSTHINT & &9 & Goll TeleT fohdT araT g 2
Under which article of the Constitution has Hindi been given the status of official
language?

A 3TTEBE/Article 343 (i) B 3fefesia/Article 349 (i)
C 3iTeae/Article 348 (i) D  3fed/Article 346 (i)

TSTHTIT & GAVSTT & foIT 27 o fohdey &Y H Sier AT g

Into how many regions has the country been divided for the purpose of official language

A 3 B 4

c 6 D 8

&S Y gadenfaish gl ael &/ When did Hindi get constitutional status
A 15/8/1947 B 26/01/1950

c 14/09/1949 D 14/09/1950

Hol 3T AT oy focr pRafAafa & 3rcgeT T gla g 2

Who is the chairman of the Hindi working committee of the Divisional Railway Office?

W HASS Iof Y4 /Additional ASel oI Y&aYh/Divisional Railway

A Divisional Railway Manager B Manager
s AseT wfde HTUHRT /Senior
¢ Divisional Personnel Officer D SAH Eﬁl’é’ sTel/None of the above

GIETeT &1 3MSdT T & TR fohelall HIWIHT T TSTATST o §G 7 Hifderieren
HI=G T 9Ted 87

According to the Eighth Schedule of the Constitution, how many languages have
constitutional recognition as official languages?
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A 8 B 21
c 22 p 18

ATANS RERR Teh AR AT Tcdsh TWEPR & Sl AR ATTHS GarT Rl or@eh
F 3T w%wé:%rcmuﬁmw%ﬁv%mm%l 1961 # T, T8
Wmmwmﬂmmmmﬁmm% ST AT &
afaerT 9 3redt ITeE & A g1 55 A1l 916 RERR (2019)8 Tohd FFEATIAT
ferarm aram?
The Jnanpith Award is an Indian literary award given by the Bharatiya Jnanpith to an
107 author for their "outstanding contribution to literature". Established in 1961, the award is
given only to Indian authors writing in Indian languages, which are included in the Eighth
Schedule of the Constitution of India. Who was awarded the 55th Jnanpith Award (2019)?

A FSUT HIEc/Krishna Sobti B  GIAIY Al3/Damodar Mauzo

HFRAHA Pl sAedl/Akitham
C TR €9/Amitav Ghosh D Achutan Namboodiri B

Fr B afafa fr do 1 3reTeTar T Far g?

Who presides over the meeting of the Central Hindi Committee?

108 g =g HA/Minister of State for Home
A eI FAY/Prime Minister B Affairs
C o e #HA/Union Home Minister [y SoIH & IS wT&1/None of the above A

HTIT Teh I Il A ATC §31T & 39 IF I g¥AaR fodl 7 e gu & o 3m9 38 oo
T 3T el TY HIET H &
You have received a letter in English and the letter is signed in Hindi. In which language
will you reply to that letter?

109
f@&I/Hindi B HISN/English
MWﬁﬁaW?/can be Waﬁéﬁmﬂﬁ'?hhere is no such
C given in both languages D rule A

TSTHATST fAIH & 39T "o &7 7 FoIrd Tarr srdTerdl 7 fhas gfaera s fGdr #
gl 3nfaa 2

Under the Official Language Rules, what percentage of work is expected to be done in
Hindi in government offices located in "A" area?

110
A 80% B 75%
oar ﬁé’ TET oT{?f %’IThere 1S no such
c 100% D restriction. C
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The End
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